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1 .a) List five differences between free and forced oscillation

b) Define transverse and longitudinal wave motions along with examples.

1. C)

jefjne corTave aTld convex lens. St't' th, ,h„„I„i,ti. f„t,u„ di,ti„g„i,M,g
the image formation by convex and concave lenses -– -- –--'--'"“’“*"-b

2. a) FprmTlate .the dif[erFntial equation of motion of a particle executing forced
vibrations in a resjsting medium. Explain the physi JaI meuHi£ iii;iI:=
and each constant in the equation. Solve the equation and obtai; the aL;i=;
for resonance amplitude

b)
1?1scuss ?n?IYticalIY the formation of stationary waves and explain how the
characteristics change with distance. ' -- -'

i)Two thin Fonv ex lens LI and L2 of heal lengths n and f2 respectively9 are
placed coaxially in contact. An object is placed-at a point beyon i -th; -f-ii:-i}

L1. Draw a raY diagram to show the Image formation by the combination and
pence delive the .expressions for the focal lengths of combined system.
ii) Expjain what is mean by power of a lens and how to fInd out the power of a
lens using lens maker’s formula. - – - '-

C)

3. a)

; ! ?eul aiE sT; ;d is :1:n= = : [1L ;:: do :haePr:f= c: :yrao} 1:::p ::cT) it:IT :J=i :1let :!yT/ 4
and Tp where T is the time period of oscillation.
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4. a) Describe the important characteristics of fermions and bc)sons? (5)
(COI )
(POI )

b) IdToeri:c=ustics- Describe the important factors to improve the acoustics of an (5)
(COI )

(PO 1 )
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